Silver
Answer these divisions.

b 55+4=01r0] Page 90

(x4=55 . 55+4=13r3

Hxe=0 2. 82:6=Br4

e 3. 85:3=28r]
=]

4. 75+4=18r3

2 82+6=]r[] 6 88+5=Jr[] 5. 8q=6=1475

3 85+3=1r[] 7 97:+5=r[] 6. 838+5=17r3

& 715+4=]r[] 8 9a3:4=1r1] 7. q7+5=|qr2

8 Q3+4=23rl

5 89:+6=lr[] q 97:6=Jr[] q. q7+6= |6r|

10. 15 on each plate with 2 left

10 Mrs Jones has 47 biscuits. She shares as many of
them out as she can onto three plates so that

there is an equal number on each plate. over

H biscuit h plate? . . .

HowTR S Il. 15 in each pile and 4 coins left
over.

11 Fred has 94 pound coins. He makes six equal piles of coins
as high as he can. How many coins does he have left over?

® I am confident with dividing 2-digit numbers by
KD - I-digit numbers with and without remainders.



